
MECHANISM DIFFERENTIAL & NEXUS 7-SPEED
FRAME TYPE 2217

AZPMKR
18/03/202418/03/202402/12/2016

1:7 ConfirmedVerifiedDrafted

Initials
Date

Scale:

Plan No.

EP00225 G/

EP00225 / G
1/2

VERMEIREN

15

7

6

15

16

16

16

18

22

2224

26

26

28b

29

30

19

30

33

Use Loctite 582 for 22/
Uzyc Loctite 582 dla 22.

Use Loctite 582 for 22/
Uzyc Loctite 582 dla 22.

145

28e

A

B

C

A (2:7)

Use Loctite 582 for 23/
Uzyc Loctite 582 dla 23.

34
11

18

23

24

20

5

B (2:7)

Use lubricant between 36, 31/
Uzyc smaru pomiedzy 36 i 31.

1

1

8

9

9

10

13

17

18

18

24

24

24

24

33

35

35 3631

36 31

14

C (2:7)

Use Loctite 582 for 25/
Uzyc Loctite 582 dla 25.

2 12

21

21

25

25

28a34

28c

28c



MECHANISM DIFFERENTIAL & NEXUS 7-SPEED
FRAME TYPE 2217

AZPMKR
18/03/202418/03/202402/12/2016

1:7 ConfirmedVerifiedDrafted

Initials
Date

Scale:

Plan No.

EP00225 G/

EP00225 / G

Material
No. Plan Article Quantity
1
2
3
4
5
6
7
8
9

10
11
12
13

14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29

YP04707
YP04804
XP02365
X002282

6x6x50 DIN6885A
XP02369
XP02368
XP01176
XP01189
XP01202
XP03236
XP01257
XP01259
XP01671
XP01672
XP01673
XP01674
XP01283

D10,5 DIN 125
M10 DIN 934
M6 DIN 985

D15 DIN 6799
XP01654
D160mm

D3x10 ISO 15979
M8x25
M5x16

---
M6x10

D8,4 DIN 9021
---

XP01274 (Nexus 7)
M10�DIN 439B

2886600
2992272
GP17200
1992854
GP19000
GP17400
GP17300
2992208
2886004
2992224
2631200
2853400

2992306 (01)
2993508 (02)
2993509 (03)
2993510 (06)
2993511 (07)

2992321
1001558
1001672
1001680
1003049
2991678
2992382
2992305
1990501
1006112
1994568
1900641
1996574

---
2992270
1903216

2
1
1
6
2
1
1
1
2
1
1
1
1
1
1

1
1
3
4
4
4
1
1
6
2
6
6
6
2
-
1
1

2/2

Material
No. Plan Article Quantity

Wheel 20" Drive
XP01197

---
Chain

M6 DIN 127 B
M6x90 DIN 912

M6x110 DIN 912
M6x100 DIN 912

XP01195

2994423
2992222
1902733
2993196
1004414

1911103 (01,02,03)
1911104 (06)
1998869 (07)

2992221

2
2
3

1,66 [m]
6
4
4
4
2

30
31
32**
33
34
35

36

** - not depicted

|

|

No. DescryptionPlan Article
Nexus 7 subparts - 2992270

nexus 7 hub with extra drilled holes
shifting lever
components for hub
clamp 5/8"
gear 18T (2,3mm)

2996711
2996712
2996713
2996708
2996709

---
---
---
---
---

28a
28b
28c
28d**
28e

VERMEIREN


